BUILDING CODES:

ALL CONSTRUCTION SHALL COMPLY WITH THE REQUIREMENTS

OF ANY AND ALL APPLICABLE STATE, COUNTY AND LOCAL

BUILDING CODES OR REGULATIONS INCLUDING BUT NOT

LIMITED TO THE FOLLOWING:

-INTERNATIONAL RESIDENTIAL CODE (IRC) AS ADOPTED
AND/OR AMENDED BY LOCAL MUNICIPAL AUTHORITY

6x6 PT WOOD POST
w/ VINYL SLEEVE

20" DIA. CONCRETE FOOTING
AT EACH POST LOCATION

12'-7'4" FOOTING/POST CENTERS

2x10 AND 2x8 RAFTER
PLATES ABOVE

(3) 2x11" HEADER ABOVE

18'-4 7/8" FOOTING/POST CENTERS

ENGINEERING NOTES:

THESE DRAWINGS ARE TO BE USED ONLY AS AN ARCHITECTURAL
GUIDE FOR THE CONSTRUCTION OF THIS PROJECT. THERE HAS
NOT BEEN ANY STRUCTURAL, MECHANICAL, ELECTRICAL OR SITE
ENGINEERING PERFORMED FOR THIS PROJECT. IT SHALL BE THE
RESPONSIBILITY OF OTHERS TO OBTAIN DESIGN DATA FROM A
LICENSED ENGINEER FOR THESE SYSTEMS. ENGINEERING SHALL
CONFORM WITH ALL APPLICABLE LOCAL AND/OR STATE BUILDING
CODES AND REGULATIONS.

CONSTRUCTION NOTES:

-ALL WOOD TO BE PRESSURE TREATED SP #2 OR BETTER
-EACH ROOF BOARD SHALL BE SECURED TO EACH FRAMING
MEMBER WITH (3) 1 1/4" x 7/16" CROWN STAPLES (16 GAUGE) OR
(2) 8d RING SHANK NAILS

-ALL HARDWARE TO BE GALVANIZED, POWDER-COATED OR
STAINLESS STEEL

SIMPSON ST2122 STRAP ON
TOP OF RAFTER PLATE AT ALL
CORNER AND SPLICES

- Q( L—2x10 AND 2x8
A RAFTER PLATES

1
1
1]
1]
1]
1]
1
24

ty w/ (3) 2x11" HEADER
i BELOW
})}L/ L— (2) 2x6 HIP RAFTERS

(2) 2x6 il |_t—2x4 RAFTERS

15-3%" ROOF OVERALL

11l
.

RIDGE @ 24" 0.C.

BEAM T
7 i

1l 1x6 PT T&G
ROOF DECKING

— 15# ROOFING FELT
—ASPHALT

X

SHINGLES

FOUNDATION / POST LOCATION PLAN

6x6 PT WOOD POST w/ /
VINYL SLEEVE BELOW

21'-0 7/8" ROOF OVERALL

ROOF FRAMING PLAN

SITE LOCATION:
.

P\
www.CREATIVEGAZEBOS.com

14' x 20' MANOR PAVILION w/ 12" OVERHANGS (4 POST)

DATE 10/29/19 SCALE 1/4"=1-0" U.N.O.
REVISIONS P.N. 10-27
SHEET NO. 10F2




POST BELOW

(3)#10 x 3" SCREWS
"TOENAILED"

(6)#10 x 3" SCREWS TO
ATTACH OUTSIDE 2x11 TO POST

NOTE: OUTSIDE 2x11" HEADERS
BEAR ON NOTCHED POST

1%" MIN. BEARING FOR

INSIDE (2) 2x11's

™ — HEADERS LAMINATED w/

(2) #10 x 2%4" SCREWS @ 16" O.C.
(6 TOTAL SCREWS AT EACH
LOCATION)

(3) 2x11" HEADER

HEADER TO POST

13/8" x 27" WOOD
MATERIALS BELOW
VINYL TRIM

HEADER
(4) #10x3"
SCREWS

(2) #10x2%2" SCREWS —

27

"4

(2) #10x3" SCREWS —)|

-
—

(2) #10x2%5" SCREWS — ]

(4) #10x3" SCREWS — |

POST

CONNECTION DETAIL

SCALE: %" =

10"

4" SCREW

2x WEDGE —— 1.

SIMPSON SDWC

6" TRUSS SCREW '

(3) 2x11" HEADER—

CONNECTION DETAIL

2x4 COMMON RAFTERS,

(2) 2x6 HIP RAFTERS-

ATTACH RAFTERS TO PLATE w/

(5) 2%" RING SHANK NAILS (MIN.)
(2)4" AND (1)3" SCREWS UP THRU
WEDGE INTO RAFTER

SIMPSON L90Z ANGLE ON
ONE SIDE OF COMMON
RAFTER, BOTH SIDES OF
HIP RAFTERS

[ —2x8—

RAFTER

2x10 RAFTER PLATE-
ATTACHED TO HEADER
w/ 5/16" x 4" LAG
SCREWS @ 24" O.C.

SCALE: 1"=1'-0"

o

ol
Sz
°
X ©

41/2"

RSS GRK SCREWS

EAN

/—CUPOLA (OPTIONAL)
12
s
ASPHALT
SHINGLES

11 GA. STEEL
POST L-BRACKET
(4 TOTAL PER POST)

11 GA. MILD STEEL
POWDER-COATED
ANGLE

HOLES FOR
(6)#10 x 24" S.S.
SCREWS TO
ATTACH TO POST

o
OLE FOR 1/2" DIA. x 474"

: CONCRETE WEDGE ANCHOR

EMBEDDED 3%2" (MIN.)
INTO CONCRETE

STEEL L-BRACKET DETAIL

NO SCALE

v
'
'
'
'
|
[}
|
\
|1

VINYL BRACE w/

(SEE DETAIL)

WOOD FRAMING BELOW

_ TOP OF FOOTING LINE

7-5%"

I[Ill/l:)

18'-4 7/8" POST CENTERS

=
N
=

o [

SIDE ELEVATION

20" DIA. CONCRETE
FOOTING (TYPICAL
AT EACH POST
LOCATION)

g

ASPHALT SHINGLES
15# ROOFING FELT

1x6 PT T&G ROOF DECKING

2x4 RAFTERS @ 24" O.C.-
(2) 2x6 HIP RAFTERS

6x6 PT WOOD POST

11 GA. STEEL
POST L-BRACKET
(4 TOTAL PER POST)

#10 x 2" S.S. SCREWS

END ELEVATION

=
| T
| |
- |
| 1
| = |
- X |
- Q |
| ~ |
- |
| |
| |
- |
| |
[ | 1
o |
£ TOP OF FOOTING LINE _ N _ o
% 12'-7'4" POST CENTERS %
s 7

(2) 2x6 RIDGE
/ BEAM

- g

(6 TOTAL PER BRACKET)

2" x 474" CONCRETE
WEDGE ANCHOR EMBEDDED

SEE RAFTER CONNECTION
DETAIL FOR FASTENING

/2;4 CEILING TIES
(2 TOTAL)

OF FOOTING LINE

12
ih%
'_
T
- 9
w
T
:h :I'
&
o = w
5 =
< o = o
i Il %
T O 5
[ wi
(@) ll_: o
=2 0| <
= Ol 5
- ol =
2 ol ®
o ©
'—
N
o
R~
- A =

w
1
2 3%"MIN. INTO CONCRETE  FASCIA BOARDS
5 > N NOTE: WOOD POSTS 2x10 AND 2x8
Qlow (g - g A SHALL BE ATTACHED RAFTER PLATES
|85 L DIRECTLY TO TOP OF
2190 Vv . A CONCRETE FOOTING (3) 2x11" HEADER
TOP VIEW Zly 2 - s
0o > b . >
AEERRAR A
-
2167y Y4 6x6 PT WOOD POST 4
@ : w/ VINYL SLEEVE
<=.D 3 3
1) > b .
A pZl A
20" DIA.
STEEL POST CONNECTORS
ELEVATION VIEW TO ATTACH POSTS TO
CONCRETE FOOTING
FOUNDATION DETAILS (SEE FOUNDATION DETAILSL Seh _ Top

SCALE: %" = 1-0"

12'-7"2" POST CENTERS

CROSS SECTION

N

il

| e

www.CREATIVEGAZEBOS.com

SITE LOCATION:

14' x 20' MANOR PAVILION w/ 12" OVERHANGS (4 POST)

DATE 10/29/19

SCALE 1/4"=1-0" U.N.O.

REVISIONS

P.N. 10-27

SHEET NO. 20F 2




	14x20 Manor Pavilion (4 post) 12in oh 1of2(AB) 10-29-19
	14x20 Manor Pavilion (4 post) 12in oh 2of2(AB) 10-29-19

